Division of Polynomials

Section 5.7

Division by a Monomial
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Dividing a Polynomial by a Monomial

Note:
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If a, b, and ¢ are polynomials such that ¢ # 0, then
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To divide a polynomial by a monomial, divide each individual term in the polynomial

by the divisor and simplify the result.

For exercises 1 — 4, divide the polynomials .

1. (4x"+8x* —2)+(-2)
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3. (25y*-10y+5)+(5y*)
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Long Division

If the divisor has two or more terms, a long division process similar to the division of real numbers is used.

ind
The solution to a long division problem is usually written in the form:  quotient + %
ivisior
TIP: Recall that
e Long division is used when the divisor has two or more terms.
e If the divisor has one term, then divide each term in the dividend
by the monomial divisor.
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b. Check by multiplying the quotient by the divisor and adding the remainder.
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For exercises 6 — 10, divide the polynomials.

y*—2y+3 _b .
6. a1 ° Y =25 7. (6w +w—-2)+(3w+2)
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11. There are two methods for dividing polynomials. When is long division necessary?
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For exercises 12 — 15, determine which method to use to divide the polynomials: monomial division or long
division. Then use that method to divide the polynomials.

4a° -8a% +2a
12, ———— 13. (8n*=27)=+(2n-3
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14. (h*+2h*-5)+(h?+3) 15. (6r®—12r° +9r-3)+(-3r’)



